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Whilst every attempt has been made to show a range of student responses, the following 
responses and examiner comments provide teachers with the best opportunity to understand the 
application of the mark scheme. They are not intended to be viewed as ‘model’ answers and the 
marking has not been subject to the usual standardisation process. 
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Specimen paper 8720R 
Source A 
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Source B 
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Question 10 
Identify two similarities between Source A and Source B. 

You might want to look at: 

• the format and layout 

• the language used 

• the kind of information, ideas and opinions given in the texts.    

[2 marks] 

Mark scheme 
Accept Do not accept 

For example:  

• both contain a photograph of cats/containing 
cats  

• both are fairly informal  

• both use direct address/second person/ 
sound as though they are speaking directly to 
the reader  

• both are about cats. 

• both contain pictures/images/photographs  

• both contain paragraphs.  

 

 

Student response 1 
Similarity 1 – they both use pictures with cats in them  

Similarity 2 – they are both talking about cats          

 
Examiner commentary 

 
 
  

There will always be a thematic link such as noted in point 2.  There will not necessarily be a 
picture in each, therefore students must be taught to look at the source texts and not assume 
both will contain an image. 

2 marks awarded 
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Student response 2 
Similarity 1 – They are both about cats  

Similarity 2 – They both say negative things about cats  

 

Examiner commentary 

 
 
Student response 3 
 

Similarity 1 – Both texts talk about cats  

Similarity 2 – Both texts are persuasive – incorrect 

 

Examiner commentary 

 
 

From November 2020, the layout of this question will be amended to assist candidates by clarifying 
what they are expected to write and provide more space for the answers.  See below: 
 

Identify two similarities between Source A and Source B by completing the sentences below. 
 

Both sources ________________________________________________________________ 
___________________________________________________________________________ 
___________________________________________________________________________ 
 
 
Both sources ________________________________________________________________ 
___________________________________________________________________________ 
___________________________________________________________________________ 
 
 
 
 
 
 
 
 
 
 

Point 1 uses the thematic link; Point 2 notes something specific about the general subject. 

2 marks awarded 

Point 2 feels like more of a guess on the candidate’s part. Source B is very clearly informative, 
with no elements of persuasion. 

1 mark awarded 
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Question 11 
Identify two differences between Source A and Source B 
You might want to look at: 

• the format and layout 

• the language used 

• the kind of information, ideas and opinions given in the texts.    

[2 marks] 

Mark scheme 

 
 

Student response 1 
 

Difference 1 – One’s a letter and one’s an information sheet  

Difference 2 – One’s giving advice (Source B) and Source A is complaining  

 

Examiner commentary 

 
 
 
 
 
  

It is not necessary to identify each source, as seen in Point 1, as long as the difference is 
clear. 

2 marks awarded 
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Student response 2 
 

Difference 1 – Source B are telling you facts about cats  

Difference 2 – Source A she is telling you her problems  

 
Examiner commentary 

 
 
 
 

Student response 3 
Difference 1 – Source B has sub-headings whereas Source A does not– Not valid 

Difference 2 – Source A is persuading and Source B is informing 

  
Examiner commentary 

 
 
From November 2020, the layout of this question will be amended to assist candidates by clarifying 
what they are expected to write and provide more space for the answers.  See below: 
 

Identify two differences between Source A and Source B by completing the sentences below. 

 

Source A __________________________________________________________________ 

___________________________________________________________________________ 

Source B ___________________________________________________________________ 

___________________________________________________________________________ 

 

Source A __________________________________________________________________ 

___________________________________________________________________________ 

Source B ___________________________________________________________________ 

___________________________________________________________________________ 

This is an example of a common error candidates make in this question by writing an 
observation about each source in each space. Point 2 is rather vague but considered 
sufficiently different from the content of Point 1 to constitute one correct answer straddling 
both spaces. 

1 mark awarded 
 
 

Point A simply reiterates that the two sources are different, rather than identifying what is 
different.  Students should be encouraged not to write such responses. 

1 mark awarded 
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Source C 
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Question 17 
A family friend is thinking of taking his young children to Longleat Festival of Light.  He has asked you 
to look up information about the event. 

From Source C, make a list of useful instructions to help your friend enjoy the visit.  

[3 marks] 

 
 
Mark scheme 
 

 

NB: the task asks for ‘useful instructions’ so we would expect these to be presented as 
such, using imperatives. Full marks cannot be gained without at least some of the relevant 
points being expressed in this way. All errors are those of the candidates. 
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Student response 1 
The whole trail is outside, so bring warm cloths. Everywhere will be packed by 4.30 pm so have 
dinner erly and/or bring snacks. Only the formal gardens have a one-way system so you can see 
the rest of the trail in any order. Get there erly and have a long slow walk around to realy capture 
the atmosphere and enjoy the sites.  

Examiner commentary 

Student response 2 

1. The lights switch on at 3.45 so start the trail then – not valid

2. There is a one-way system so make sure to know where the starting point is. – BOD

3. Leave any buggies outside Longleat House.

4. Get food around 1pm to avoid queues or bring snacks.

5. Make sure to take your time and soak up the atmosphere.

Examiner commentary 

Student response 3 
Dear Mrs Castro, I heard that you want to go at Longleat Festival of Light.  This is the following you 
can do there: 

• The light started to switch on from 3.45 pm outside Longleat House – information only
• Leave yourself plenty of tme to dine or bring some snacks

Examiner commentary 

The points in bold are valid in terms of the source and expressed as instructions. The rest of 
the response is presented as information, but there is nothing irrelevant.  Despite largely 
being lifted, this fulfils the requirements for a “list of instructions”.  

3 marks awarded

The points in bold are valid instructions. Point 1 is taken from the narrative account of the 
writer’s visit, rather than advice to the friend. Point 2 is information interpreted as an 
instruction by the candidate.  It was given benefit of doubt. Point 3 looks promising but this 
stipulation applies only to visitors who want to go inside Longleat House – vital information 
missed. The first part of Point 4 is a misinterpretation of information about the business of the 
on-site restaurants. 

2 marks awarded 

This response suffered from the attempt to present it as a letter as there is evidence that the 
candidate may have run out of time on this final question. Only the second and final point is a 
valid “useful instruction”. 

1 mark awarded 
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Specimen paper 8725R 
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Question 6 
Explain how the writer of Source A uses words and language techniques to persuade cat owners to use 
the services of Cranborne Cattery. 

You should provide examples from Source A in your answer.  

[3 marks] 

 

 
 
  

13 of 22



FUNCTIONAL SKILLS - ENGLISH – 8720R AND 8725R – EXAMPLE STUDENT RESPONSES 

 
  

 © AQA 2020 

Student response 1 
The writer persuades people to use Cranborne Cattery by using language that makes people think of 
luxury and comfort, for example: ‘penthouse suite, delicious menu, spacious cat pens and double 
glazing’. The word ‘penthouse’ suggests the best and most expensive room in a hotel. They let us 
know that experts will be looking after your cat and they’re telling people that they won’t find better 
accommodation anywhere.     

Examiner commentary 

 
 
Student response 2 
The writer used words like ‘beautiful’ and ‘delightful’ to persuade cat owners as they’ll be most 
interested in a cattery that can provide an attractive environment for their cats.   
 

Examiner commentary 

 
 
Student response 3 
‘We have been offering a top class, superior and personalised service’. 

‘pens are the cat version of a suite’. 

The writer want people to use his buisness by using eye catching title and bold lettering also the prices 
of the accommodation.         

Examiner commentary 
 

 
  

The response contains a list of appropriate persuasive phrases and the comment ‘language 
that makes people think of luxury and comfort’ is an attempt to explain the intended effect 
(Level 2 of the mark scheme).  The additional comment on the word ‘penthouse’ is sufficient 
to constitute a ‘clear explanation’ which secures the mark of 3. The final sentence is simply a 
paraphrase of further attractive aspects of the cattery but does not focus on language use. 

3 marks awarded 

This very short response demonstrates a focus on language use by careful selection of two 
individual appropriate words and a limited attempt to explain the effect. It clearly does more 
than simply identify relevant material (Level 1).  Such an approach is far more likely to be 
successful than an indiscriminate lifting of a large chunk of text. 

2 marks awarded 

This response gains a mark for identifying two relevant pieces of persuasive language but 
makes no attempt to explain the effect of these. The final sentence is more focused on 
presentational elements and is not relevant to what is being tested in this question. 

1 mark awarded 
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Source C 
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Question 13 
From reading Source C, list three actions Mrs Barkley would like the law to take against irresponsible 
cat owners.  

[3 marks] 

 
      

  

The paper contains three questions which ask candidates to list three things relating to the source 
texts. The level of difficulty varies across these questions (Q10, 11 and 13).  Guidance to 
examiners in the mark scheme for this series clearly states ‘Responses must be specific actions 
against cat owners’. The following three scripts demonstrate reasons why marks were withheld. 
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Student response 1 
• Pay for the damage that the cats have caused.  

• Make the irresponsible cat owners recieve a fine. 

• Shift the responsibility for cats on to the people who own them.  
 

Examiner commentary 

 
 

Student response 2 
• The owner should be held responsible for any damage the cat does.  

• Cat owner should be fined for their cat mess from their cat outside. 

• Paying to make up for their lost earnings.                 
 

Examiner commentary 

 
 

Student response 3 
• Fine people whey they don’t clear up their cats mess in someones garden   

• Fine people when the cat has caused damage.  

• Fine people when there cat uses someone elses garden as a toliet. 
 

Examiner commentary 

 
  

Need to specify for what the fine is issued 

2 marks awarded 

Need to specify that the mess has been done in someone else’s garden. 

‘Paying’ without the clarification of ‘owners’ would be accepted as ‘owners’ is in the question, 
but it is not clear who has lost earnings, nor how. 

1 mark awarded 

The third point is a repetition of the first point 

2 marks awarded 
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Student response 4 
• She doesn’t want them to go into anyone eles garden 

• Wants the owner of the cat to be fined for the cat pooing in someone else gardens    

• Cats to stop digging up her vegetables  
   

Examiner commentary 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

The first point is true but it is not an action Mrs Barkley wants taken against cat owners. 

The third point is also true, but not answering the question. 

1 mark awarded 
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Question 14 
 

Compare Source A and Source C in terms of what they say and how the material is conveyed. 

You may wish to refer to the level of detail, presentation and language, formality, possible bias and how 
the writers come across. 

[6 marks] 
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Student response 1 
Source A and C are completely different. Source A is an advert that persuades the reader and Source C 
is a letter of complaint. Source A uses a mix of fact like the size of the pens and positive adjectives such 
as delicious and beautiful these are used to encourage the reader to use there business. Source C is a 
letter from one person and it is mainly her opinion, she is making an argument and uses examples that 
she thinks will win her argument. She uses more negative language about cats and there owners. She 
uses words like menace, outrageous and irresponsible.  
 

Examiner commentary 

 
 
 
Student response 2 
In Source A, the writer uses language that offers a kind feel towards cats, the writer uses language like 
‘top-class’ and ‘comfortable’, this makes the reader feel welcome and respectful of the company. 

On the other hand in Source C, the writer uses quite harsh language to support the idea of hatred 
towards cats, the writer uses language like ‘encroaching’ and ‘nuisance’. This shows quite a contrast 
between both of the sources due to the fact they have different opinions on cats. 

In Source A, it is less formal which gives it a more laid back and relaxed feel to it, while on the other 
hand, Source C is very formal, displaying that the writer is not happy about the situation or is writing 
something extremely important. 

In conclusion these are what I think make the sources different. 

 
Examiner commentary 

 
 
 
  

A range of differences identified, dealing with text type and purpose, touching on 
theme/content and language, supported by a number of examples. Clearly in Level 3 but 
some explanation is needed to secure full marks     

5 marks awarded 

This response focuses almost exclusively on language and tone/formality. There is clear 
explanation but insufficient range to merit full marks. It seems to lose energy and focus at the 
end, possibly running out of time. 
    
5 marks awarded 
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Student response 3 
In Source A they are welcoming people’s cats on to there property whereas in Source C he is wanting to 
stop cats from doing this. Source A is selling you something whereas Source C is asking something to 
change a specific thing. Source A is speaking to the reader in a nice way so that they buy what they are 
selling but Source C is speaking to you in an angry manner and is trying to get a point across. In Source 
A they are asking questions rather than in Source C where the writer is demanding a chang of what cats 
do. 

Examiner commentary 

Student response 4 
In Source A the writer shows that who he is talking about loves cats and in Source C the writer obviously 
dislikes cats. 

Examiner commentary 

This response includes a number of areas which could be fruitful in terms of comparison but 
lacks a clear focus on most elements identified. The first sentence gives a nice clear contrast 
of purpose, which would have benefitted from inclusion of text types. The second is too 
vague. The third point needs examples to support and the final point is again, too vague. 
Achieves the bottom of Level 2 “A number of similarities/differences identified and set out 
clearly”. Greater clarity and more specific focus would have moved this script considerably 

 

This response appears to be just the beginning of what would have been a more substantial 
effort, possibly again indicating insufficient time on this final question of the examination. Here 
it achieves just a simple contrast worthy of one mark. 

1 mark awarded
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